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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candi_ﬂji_iq’;‘-:

Ml B As @ TN A E T QuestioniD:88ssd9324308
Sound CANNOT travel through: W oot

Ans .Hm. qa.ni.

E&Tﬂrmmtﬁaﬂtmqwmmms_mﬁﬁaqﬂ et e 0

What is the age of the eldest sister if, the sum of ages of 5 sisters bom ﬂﬁﬁm‘alg of 3 Sialle- Awand
years each is 50 years? Chosen Option : 1

Ans
2 1639

16 years
x 2 18 el
18 years

Q3 amay &1 S wrEAAT Fr = W A 7 & o
In which language was ‘Babumama’, the Memoirs of Babur, composed?

CQuestion |D ;9864492083
Status : Answered

Ans 3& Chosen Option : 3
F

Urdu



ngﬁ‘ér

Kurdish

2T
Turkish

X 4 Rar
Pashto

U N T F A TS TR F oI F S8

The female reproductive part of a flower is called:
Ans digdcH
Xt
Sepals
2 -
Petals
y 9Fa (Stamens)

x

X

Stamens

SERS
Carpel

v

QS5 e gag X AR Y B aF A vw g B & T9Q g€ A =S § 3 [
2t @ o Y R AR § 3@ THT Y A omr X & afeeh Ak awed @ X

&7 2w & I I| W

In the mosping, X and Y walk towards cach other in a park. Whett they meet, 1S shadow

falls towards the right side of X. In which direction was X facing?

Ans I

X1
North
X2 =
East
v Zyor
South
X 4 RER
West

Question D : 9864493277
Status : Answered

Chosen Option :3

_Question 1D 19864494112
"Status : Answered

Chosen Option :2

¢ se@il & ggw afdT (power) H FFE &-

The unit of power used in industry is:

e S ool 9icH

Kilowatts
ol

aren *
Joule

X3 3
Watts

& B

Horse power

Question D :9864493342
Status :Answered
Chosen Option :1




mﬂm

Galvanometer

Q.10

Ans

Femfafa s (ormraiE) &, ma fae(?) ganr g ar R =

Frmeat &
FER, T HE R ¥ R e W AT Status : Answered

il :
Chosen Option : 2

BE, 7F. 11H, 17K.?

In the following alphamemeric series, one term is missing as shown by the question mark
(7). Select the missing term from the given options.

SE, 7F, 11H, 17K.2
X 1.20Q
v 2 250
X 3 20N
X 4 25P

Q.11

faretr ey S #r oF oY 4 OF F wT wEE & SEfE gE ey wi g o
FUoRigd i smtoh dF oG H ot S o
Ay e T & fhaw wRT & AT S

Oz pipe can fill an enpty cistern i £ hours while another can drain the cistern wh
in 10 hours, Both the pipes were tumed on when the cistern was half-empty. Ho
will it take for the cistern fo be full?

x 16 e 40 fAse
6 hours 40 minutes
v23 e 20 e
3 hours 20 minutes
x 3.5 e 30 e
5 hours 30 minutes
x4 e 20 A=
4 hours 20 minutes

Q.12 Pr=fafle # 3 femw 39 97 =7 & fepis

Ans

L2
Which of the following is used for disinfecting drinking water?

Q.13




for o & o A FiF W o I ARt a et ST i S oo
&= g o 7

Foolball - eae Kabaddi - #adr Cricket - fsee

In the following Venn diagram the total number of stedents who play all the three games
s

Fesibal ¥

Crgiat

Ans .¢'1 S
X 2 8+Q
X3S+
X 4 S+Q+V

Q.14 v fingsr ABC #, BREIUT B T §, BO=15 HEHIET HIT AB=5 REFTET £ T
ABC & shiges v & A g & P we S

In a triangle ABC, right angled at B, BC=1%cm, and
triangle ABC. Then the radius of the circle is;

L x,_zﬁ'&iﬂa
2em
xg_damr

s 6&}

Q15 Prrafafaa & @ =9 o e Fr o afr g 2 Question 1D - 9864493172
Which of the following is NOT the combined form of carbon? Status : Answered
. Chosen Option -3
x 1 HITATAT

Marble
»N 2 ik

Chalk
53 'I‘

Dolomite
v: &

Diamond

Ans

Q.18
Question 1D : 9864494077

Status - Answered
Chosen Option -4




frfafEs Fuw & FEfts suge fBweT & @ qof &

TF A H g g @ &
Complete the following sentence with the most suitable option.

A shirt always has
Ans s
Kj_ﬂEl‘o'-lT
a collar
g
5
X a button
xa.‘-"”
a pocket
v & !
fabric

g 0 ¥ A e TRl A u & ueis Rt @ e g

If the edge of a cube is increased by 2 em, the volume will increase by 488 cm?
then will be the length of each edge of the cube?

A v 8 TR

8 cm
Kz_?'ﬁﬂﬁlﬂ'

7 cm
x3_9ﬂaﬁt¢

9 cm
x_ﬁﬁﬂﬂﬁm

6 cm

Q.18




IR E4OT T AB YEm W 1@ ann g, ot B s f ad ador of g

A
B
Answer Figures
A B C

Problem Figure - 5t fag

Answer Figures - Ieo sepforl
Choose the correct nmarror image of tha following figure if the merror is held st AR line.

A
B
Answer F
.'
A

.‘
D

igares
.M'.
B [
Ans X"-C
X2B
X3A
viD

.a
D

Q19 Frde (d -12)F TH AT F Faa

How many atoms will one mole of Carbon (C-
Ans o 1 6.02 X 10

X 2 60.20 x 10%°

X 3806 x 102
< 46,02 x10%
O g1 & THaToT A, F fFus steET & oo D 9864403258
In Force equation, F is equal to: gﬁ :tmamd
Ans “1 ma Chosen :
X 2 mgh
X< 3my
X 4 u+at
2! FIH FIA T TAAT FT FAT FaT AT 27 Question ID : 9864493321
The capacity to do work is called: g:: f:nﬂw
Ans Chosen
X1 o

power




Q.22 7 62,500 T 21% Fr i o F 1 2 a9 & e awgfe amsr = gom Gosslion D - 9864492588
Find the compound interest on ¥ 62500 at 21% per annum for 12 years. Status : Answered

ans X 1 % 19,687.5 il i
X 2 ¥ 20,695

X 3.721,6385

v ¢ T20,687.5

Q.23 fr3r v fawesl F & o o= = TEw w)

e T HeE ST g ¥ wh §, T T OieeaAr #
Tt 17
Select the related word from the given alternatives.

“Explore” is related to ‘Discover’ in the same way as *“Walk' is related to

Ans qaT AT
N4
Find
;.G : ! [
Accelerate
Na W
Search
HHUT
.
4 Ramble
O = ¥ Wi O v Hfeow Question ID :9864493616

Status : Answered

Which of the following is not a voluntary action? Option 12

- Y FI qC FHLT
.Clﬂaingufﬁst
> feer #r usa
Beating of heart
TE Tl B ToAT
<

Ans

x
Moving a chair

| T T T
Taking an object

X

Q.25 e ¥ far, g wfy s e aR & 6w S
- oy R Question ID : 9864493324

FTH # =R famar e afge? .
To hear a distinct echo the time interval between the original sound and the reflected Status : Answered
sound mrst be at least: Chosen Option :3
Ans x
x ; 0.2 ¥FE

0.2 second



v 01 ¥s
0.1 second
x5 1 98
1 second
X o 2 WS

2 seconds

Q26 Y TEIT FT 32%, 80 ¥ wEar fFaer §2 { Question ID : 9864492947

32% of a number is 80. What is the number? e z':u*:: :::“mfﬂ“
Ans X140
V2 250
X350
X 4 260

y N
Q.27 7 o¥ET ANAT areRcata T W AT SAET S A areheats e
03 E U
THffTE (oedT) & anfEe @ e aEe s 3 64492
Name the professional Indian basketball player who became the first ever player 1o b i
drafted from India into the National Basketball Association (NBA). 71

e . T g s
Satnam Singh Bhamara

sz mﬁ
Yadwinder Singh

Ka_aﬁmr g
Ajmer Singh

x o Teher ol
Akilan Pari

Q.28 Fermrfaflr fovass fwer warer v . “avedl & aqoTurdt 5 L ‘

et o T

‘Who stated the following law: “The propertics of the elements are the periodic funetion of
their stomic masses™?

Ans vx1 ﬂm
Newlands
AT
Mendeleev
Ao

< 5
Moseley

4 ST
Daobereiner

Status : Answered

Question 1D ;9864493374
Chosen Option : 2

v g

Q.29 2 Fwst & AUEEE 40 §1 W F TR wE 2.50 ¥ gEh s e i
The product of two numbers is 40, One of them is 2.50. What is the other mamber?

Cuestion 1D : 9864492941
Status - Answered

Ans & 1 14 Chosen Option 14
N112

X315




v 16

awu Ilﬁ tana = ﬁ-— 1 a o tana - cota = ? Question 1D 9864492917
f B Status : Answered
tang = 2 - 1, then the value of tana - cota =7 o
Chosen Option -1
e Xiv2+1
x21
vi.-2
X 4242
Q.3 A 2017 F wRiiE W i w0 Ivew T e Hiw T e
e Forer ?
Who wrote mjrndimmumm fiction novel “The Rise of Sivagami® published i March Status : Answered
20172 Chosen Option ;1
| difarer Py
Annsthpaﬂ:u
X , ot T °
Arundhati Roy 0
x5 gdced UgAgH \
Devdutt Pattanaik a
v 3G FAonea o
Anand Neelakantan

lestion |D : 9864494268
Status : Answered
Chosen Option :1

7=y W wf P e ad a
Forewd:

1. wew @t o i e &

2. 7t fedr ofr T AT mEAT B

Read the given statement and identify which of the given conclusion(s) logically follow(s)
from the statement.

Statement:
Death keeps no calendar,

Conclusions:

1. Man mist die one dag,
2. Death can come af amy tme,

Ans
o T fasrd 2 7gETor e 2
Only conclusion 2 follows.

1 3 2 2t srgETor A F F
Neither conclusion 1 nor 2 follows.
1 3R 2 @& Fgeor & E

Both conclusions 1 and 2 follow.

Nz

v &




4#{3%55&1 HFHIOT FHIaT ¢

Only conclusion 1 follows.

x

Q3 a1 W EF A 0L Al s AR W ER s Question |D : 9864492605

If 192 pens cost is 10, how many pens can be bought for T §7 Status : Answered
Ans O 1. 56 Chosen Option :2

W2 06

X 348

X472

Q.34 sy 7 F B ame ToeEe @ @ W F i F sueed e
India-bom Leo Varadkar became the Prime Minister of which of the following countries?

Ans i af&or anfrer
South Africa
X2 FFicol®
Scotland

Q.36 flr 4 A gooAmEa), TR @ T el A @ R Aamuaisd 1
T B:C:6:13 F AT A:B:C ¥ AW F FW? Question 1D : 9864492805

There are red (A}, yellow (B) and green (C)tokens inabag A:B:53:8.B:Cu6:13. Status : Answered
A B :Cis given by: Chosen Option :4

Ans X1 3:8:13
X23:6:13
X33:48:13




vi9:24:52

Q37 Ard 2018 ¥ 3WA F TOIE F ¥ F frwwr forgwa e o 2 Question 1D - 9864492427

Who has been appointed as the Governor of Assam as of March 20187 Status - Answered
Ans x1 7FT|' qoe Chosen Option : 2
| Ganga Prasad
STeTaTer Jjﬁl
v &
Jagdish Mukhi
Xa 3
Banwarilal Purohit
x GEATIA FETH
4.
Subramaniam Swamy

Q38 ooy, Foare oty & o g, o0 Ritoiet ofr Wi o aif s e 3%
SIS SHAT § | S0 FOREW RS {8 ST ¥ aNe Yl aS AT

#r = aE I we
A train, starting from rest, atfains a velocity of 90 km'h in 5 minutes. Assuming that
acceleration is uniform, the distance travelled by the train during this time is:

1. (p+q)f=16

AN 3.25 fEeiHeT
e mi
Z p-gmdir=2p

.8
3.25km

Consider the given question and decide which of the following statements is sufficient 1o

answer the question.

x 5 225 feretHeT
2.25km

s 375 IEEIIERY

3.75 km

1.5 ferateeT

1.5 km

X 4

Q¥ PRrmmr R s s

stion |0 ;98644943
w7 wwe v b b 28

Status | Answered
Chosen Option :1
p,q #Tr & AW FT f

T

‘What are the values of p, q and r?

Statements:

L (p+q) =16
2. p=q=4r=12p

Ans o
a1 76 & F Aw wua 1 v  Et & g #)
Both 1 and 2 are sufficient to answer the question.
X2
TS & F9E & F T @19 Fua 2 & 9w 2
Only 2 is sufficient to answer the question.
” s



a1 FEE &4 & AT F & Fae T &2 §
Neither 1 nor 2 is sufficient to answer the question.

X4

HaTel 1 SamE &t & [T A9 &y 1 & 9aieT 2

Only 1 is sufficient to answer the question.

Q.40 wrm Hiww X WET #H 2017 & oF AEA A Aereyted R TW e &

. 3 CQuestion 1D ;9864493797
ST i FE (g @) g B Status - Answered
et # S gEm At Hr gEh Tew 5w aEe = R b

wT IR

=k ¥ 37 2017 7F At F ot & Bew ohnm Sy g e

owi B8 EEEESE

The data given shows the registration of bikes and total vehicles {in
months in 2017 in city X,

Note: In the chart, the first mumber represents bikes and the second mumber
todal vehicles,
The increase in registration of bikes from May to June 2017

]
[
0
L1
Y —
FL
o)
15
1w -

Ans ?(7159%
v'2 64.7%
X 3 70%
X ¢ 60%
QA1 u & R T BT UF AEE F 40 eniET & gl am e A e O - ‘
mi‘m“m!:mmpw_gﬂmm*mﬂ,ﬁ;Eﬁt Question |0 : 9864492810

7§ i AW & e e = g Status : Answered

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 hours Chosen Option =3
1o row the same distance downstream. What was the rower’s speed in still water?

ng | 4.5 TEeieey gfer aer

~
4.5 km/h

X 2 4 Trel#eT i ger
4 km/h

e 6.5 Treirster wfy wer
6.5 km/h

x4 15 et 9fa ger
1.5 km/h

Q42 (



TR, qURT & e frea seees ST 2017 & feeer w= ot Question ID : 9864492219
qgw e wr? Status : Answered

Who won a gold medal in the World Weightlifling Champicnship at Anaheim, USA, in Chosen Option :1
20172

Ans i #rraTg =

Mirabai Chanu

Kz-z i
Kunjarani Devi

xﬂ_mma-&
Karnam Malleswari

xd_ﬁ?ﬂw
Vandna Gupta

Q43 F & 78 Tw ¥ETE W &S UF 9 T S0 O FEE ST §W A
# g aE A wep

SN

] 2

i EIN

Jl=a

Use cach of the following figures only once and form three groups. The three
formed ane:

TS

M=l

]

V=L

Ans of1.(1,4,7), (2,5,8), (3,6,
~<2(157), (2,4,8), (3,6,9)
~3(1,4,7), (3,58), (2,6,9)
< +(1,47), (2,6,8), (3,5,9)

V4 Faw T RN BT FFEE = ; l

Question |D 9864493335

A fungal cell wall is made of: Status - Answered ‘

Asg v Fsfeat (chitin)
chitin
X2 g

cellulose

o
il
4 2H TegEst (hemi-cellulose)

hemi-cellulose

Chosen Option : 2

oA

Q.45
Cuestion ID : 9864493968

Status ; Answered
Chosen Option 12




few v @ # FER ¥OF sugEd Reew & W @ #

T T & T g g g
Complete the following sentence with the most appropriate option.

A king will always have a

Ans
Krﬁ
Minister
v g
Kingdom
Xam
Queen
X 4
Sword
F
Q46 Fy=r o o7 faa o7 am w% BF & od semonat # & d e @ Rl
Lyl |‘ i Asi
Tk

Ans

UF g R 2200 wE ol
e ot it i & I AR S W R

HEuRT

1. TAEAET 1 FHE 9§
2. waErEsay & P o & P o

_tictlpm era/si snoitpmussa nevig eht fo heihw ediced

InemugrA
ton era elpoep tey seronc 200 3 fio tsoc grappobny a hiny
heum revoylf eht grisiliog

noitpmuss i

1. sselesu st revoylf ehit fo noftcurtsnoC
2. detsaw saw revoylf eht fo noateurtsnoc eht no tneps Yerens dna venom emit ehT

o, 192 2l PR ¥y
 ticilpmi era 2 dna 1 htoB

o TauRon 2 AR T
Aietlpmi s1 2 noitpmussa ylnO
e qGURVT 1 @R &
ticilpmi si 1 noitpmussa ylnO
adar1dad2 @Rag
ticilpmi si 2 ron 1 rehtieN

X 2

X3

o

Q.47

> x1_mﬁ$ﬁ‘f+ﬁﬂﬁﬁ?

WE&WWM% Question ID : 9864493286

Status : Answered

Mechanical energy is the sum of: Clicssi Oplcti2:

chemical energy + electrical energy




T 3l Feufder sl

kinetic energy + potential energy
X3 afaSF FAT + FSHT FAT

kinetic energy + heat energy
x4 feufas s + FsA1 FaT

potential energy + heat energy

Q.48 1« 107 Fim wf S &1 aEEEs WEE AT O 9 U Eeae &7 pH
=T g
The pH of a solution, whose hydrogen ion concentration is 1 % 10~ *maole per litre, will be

Ans Ki-ﬁ
Vs
X34
X7

Q.49 ool & Hol AT TR F 2 45 46 o 9F T Y 9F Tiaew W oW E 4
55 : 57 ==t wam H#fE # wHE & 58 FST 40 AT w T o f

T o 36 50 fwT 28 ¥hT o ogw ) R awh o
# i wR A

Question 1D : 9864493310
Status : Answered
Chosen Option : 2

w1 EeT 59 fEe
1 hour 59 minutes
x, 2 8¢ 2 e
2 hours 2 minutes
v: 281 e 12
2 hours 1 minute 12 secon
x4 2 ©C 2 WF3
2 hours 2 seconds
Q50 37 frwes F g 3 Prtaras R § § o smeitys wEw & b

Question |D 19864494258
Status : Answered
Chosen Option -1




~42

Q.51 =f st & B & e iy e wern wiees #h e E Srsw e e
ZTAT TEET W W/

If the first andd third members of a Dobereiner triad are Phosphones and Antimony, the
second member of this triad 15

Ans TeHT

Question 1D ;9864493093
Status  Answered
Chosen Opfion : 3

Q.52 @ far o o Resdt & #F 7e9 sogE Reew & I B e o g wh

TR WEET # _wmk

Complete the following sentence with the most appropriate oplion.

Anoffice alwaysbasalan
Ans
x 1 TS
Kitchen
od
2
X Roof
Gir
3.
ol Car
| viRreTd
Authority
05 Ofa@a & @ #l5 w RAT Question ID - 9864492744

Status - Answered

Among the following which is a rational oy 2

Ans x"ﬁ
VERT:
Xa.v'ff

X4 Y3
Qs4 4 1

T a + =33’I'?-l’fa3+—==? Question ID : 9864492876
v Status : Answered

Ifa+iz 3,1hena3+“—1'_? Chosen Option :1

A of 118
<29
X336
<412
Q.55 =fy o & 3w 130p 3785, 15 & o Penfne 1. o p o mgmee A T

)
1 the § digit numbes 136p 5785 is divisible by 15, then find the least possible vatue of p?

R |=

Cuestion 1D - 9864492503
Status - Answered
Chosen Option 2



Ans X1I4 L J
V21
X2
X43

Q.56 grmar # 3w O ¥ e b 2017 F 5w o s ol & el

o e
‘Which chef was awardad the Padma Shri in 2017 for his culinary contributions?

Ans
X1.ﬂ$ SATHIT
Madhur Jaffrey

xglﬁmm
Vikas Khanna

Question |D : 9864492374
Status - Answered
Chosen Option 3

Q57 et gor AL, 7 X {4+ (—2) X (—3)} =7 ",
Solve the following 7 X {4 + (=2) x (=3)} i‘ p Answere

Ans X1 _14
X214
V370
X 4 42

% Crw adT U F mEw
Which Indian State has the most nun
Ans Qﬁ'ﬂ'ﬂ' m‘
r. G
West Bengal

¢

Question 1D ;9864492118
Status  Answered
Chosen Opfion : 3

Q.59 wofafes sevfas ited T 2017 Ft9 & F9mw gm0 ofE o o i
The Fugitive Economic Offenders Bill 2017 was passed by which ministry?

Question 1D : 9864492288
Status - Answered
Chosen Option : 3

Ans :
HH HIET
<




AT JIAT
4. L

.
Law Ministry
Q60 45 -[38—-{60+3—-(6—9+3)+3}]=? e =
45 — [38 — {60 + 3 — (6 — 9 + 3) = 3}] gﬁf?mwemd
Ans of 126 ihisikinic i
X221
X 325
X424

Q61 sy # FkefEw B g W wovw oe £, W g @ am a2 s Caeh At
What is the name of the point at which the chromatids are attached in a chromosome? St Answared

e v HSIfAAT (Centromere)
Centromere
X2 ST (Gene)
Gene 0
X 3 de& FI (Centrosome)
- Centrosome \
X s urgETag (Nucleosome) o@
Nucleosome
usz:?mﬂmmm#ﬁ:ﬁm stion 1D : 9864494379

Status t Answered

T Chosen Option ;4

g af & e &, g den & @ aEowE

e o
1. arw A & fr o @y s @l
2. §% wvu W 8y § e T yis ety oo I

Consider the statement 10 be true and decade whach of the following is/ane
o

Statement: :
Thes year i the bodget section, there was no fund allotment for trave] msurance.

Assumptions:
1. Travel insurance requires funds.
2. There are many other areas that need more financinl attentions.

s 1 Fae g 1 AaARd &
Only assumption 1 is implicit.
, ar aem 1 ar 2 dEed 8l
Either assumption 1 or 2 is implicit.

RO 1 3R 2 gt sidfafed 81

x

v
Both assumptions 1 and 2 are implicit.
X & Fae arRonm 2 § saffed g
Only assumption 2 1s impheit.

Q.63
Question 1D : 9864493926
Siatus : Answered
Chosen Option : 4




W S F 9E Ft A PR wag @ gEn A §

lx_G[i ®[®X =|=
® x|x ole olo ﬂ
A B C D
Select the figure that does NOT belong in the following group.

» M| ]
30.0
A B C D
Ans X 1 D
X2B
<3 A
viC
Qﬂm#ﬁﬁm##ﬁvﬁmﬁmmﬂiwﬁmm

e AT &7
Which of the following allotropes of Carbon is used a% a reducing agent in metalhargy?

Ans m

1
Graphite
Xz_zﬁlﬁaﬂﬁ
Carbon Black
xﬂlm
Charcoal
L Cacs
Coke

QS sm e e T sl A Br v Re & 0
T

| I
T 5 I
| I |

Select the option that will correctly fit in the hlmtw in the given figure.

L

(HIH[B G |HH

Ans

X

2

Py



Q86 yifr 23 x 31 =713 @ 0. 0713 + 3.1 Fg=r gem? Question ID - 9864493001

23 x 31 = 713. How much is 0.0713 + 3.17 Siele Ao
Ans x 1 0. 0023 Chosen Option 4
X 2023
X323
v 40,023
ool %T#TWM N A T P S N e e Question |D - 9864493868
Status : Answered
Lo Chosen Option : 4

ﬁmamh::aﬁwt.ﬁmﬂmmﬂfﬂwmmmh

HepHI:
1. 88 mF wET A & T H

2, W19 UF AT AT §
Consider the argument and decide which of the given assumptions is‘are implicit,
Argument:
If you're a classical dancer we have an exciting job for you,
Assumptions:

1. We need a classical dancer.
2. You are a classical dancer,

AR Ad 2Rl

Neither 1 nor 2 is implicit

zmmzﬁﬁa?

Only assumption 2 is implicit
¥ A 1 ARa g
Only assumption 1is implicit

1 3R 2 a=t AR &

x

v

X
Both 1 and 2 are implicit
—_——
Q.68 :
o4 T v T # fRas Bege &2 Question ID - 9864493742
Status ; Answered
/ Chosen Option :1
How many triangles are present in the below figure?
Ans 2{ ] 1 2
X215
v:14
X+13
Q.69 off BACKFIELDS wreg & eml &7 3EsT avtAm & &r & soateus 2
AT A WA F & @il ST R e # W e Question 1D : 9864493696
If the letters in the word BACKFIELDS are amanged as in the English alphabetical order, Sialle- Awand
then which letter will be to the second right of the letter *F', after the reamrangement? Chosen Option : 2

Ans X1 E



VoK
xaL
X4+C
Q.70 gt W S 3y Serdr T 97 i o e e T f
Fomst ogelr o Beard s Tw it @ W SR § 5w e & ded
Foremr fam o o7 smuafyE E@?
Amish Tripathi, & fmous Tndian wriler, is Worlking on 8 seriéa based o Rameyaas, in Chosen Oplion : 4

which the first two books focus on Rama and Sita, respectively. On which character does
the third book of this series focus?

Ans ;.I'Ta'UT
1
v Raavana
HqHT

Bharata
< oa ﬂ

Question |0 : 9864492381
Status - Answered

o2

X4
Lakshmana

AT 3g R & T3 = S el oag & wafe

B DRR
A B C D
Select the figure that does NOT belong i

BORD

A B C D
Ans X‘ID
X2B
X3A
v:C
Q72 mi;;:w“;az?r;;ﬁg::xrm‘:ﬁ: Question 1D : 9864492698

HFT 3 F 7% I AT oW T O R F Y F e o R Status : Answered
T # ' Chosen Option ;1

There was a group of six students who took a test. Another student joined the group after
taking the test later. With ler marks included the average score of the group went up by 3.
'_rhiumdmlhasr:t_mrlrx more than the average marks without ber being

included.

ans of 1 21
X220
X318
X424

Q.73 Frg |9 & @ wad o vem § F 2so0 3 2T S O O0E HEm 0 g a gk

Question ID : 9864492536
Thie smalbest puonbes ehas izt be sebaracted frons 2500 w0 that the obiaimed puamber is o parfiect squige 1 Status - Answered

Ans  of 1 69 Chosen Option :4
X209
K373
X 4 96




Q74 fimdr vw w17 &, TR DOG & 4157 e =mam &, & MAT = &3 fran T .
Frwm? Question ID : 98644939
In & certain code, if DOG is written as 4157, then what will MAT be written as? Slu?-.n:nmw
Chosen Option : 4
Ans X 1.13012
X 212120
< 314120
v 13120
= a el “ ol ﬁl?[ 9a _‘E-!'ﬁl Question 1D : 9864494321
Slatus : Answered
Chosen Option © 3
PG'} QH, RI: ?
Select the term missing from the given series. ’
PG1 QH: RI, ? °
Ans x 1. JE ‘
‘s C
viss
X 4sT
’
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